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Condense each logarithm. /Q] Ia’
2 7. 8log;12 + 2logs 5 Sl i3
/oj:,u" gav 8 3lnx+2lny—In(x—1)-2lnz

: 6. lo . .
gJ: 3(/9)(—6/7"7/{721) In _E%(X—“b

Evaluating Logarithms
9. log,8 3 10. log56 /7Y% 11. In12 RS 12. 10g,0.25 -—,

Solving Logarithmic Equations

13. logox =2 %%/ 7. In(x+1)=9 £-= %= I0R,0%
14 logs(2x+7) =4 x- 32 - 41 18. In(2x—8) = 3 23% _X= MO013
- | —
15. log, 16 =2 X6 y==¥ IX= 91 19. log,3x% + log,2x = 4 ,ﬂ_-é? ¥=3.499Y
16. logg(6x — 4) = logg(2x + 12 20. logx?* — log3x = 2 wl
gs( xg,,qzszlg"( x +12) 0gx“ —log3x (0™ ﬁ— x= 00
yx=6 X=4
Solving Exponential Equations Inll
2. 5% =22  x= /o 22- 93] 24 e*=11  xX=Z-=.777
/9; '&’3 - -/' IO‘/

Bt 6=17 2% x= gz 4 2 5. 7X+3 = 40 X =
23 2-9% =100 o5 J0kls Aies
950 = lysD= 1,750 (XYt = xDlnY
Xl 10 = Oxlnf -3
X (In10- 2In N=-3l¥
~2 /Y '
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